B3
THTEE (FA3IFE) BRXEE

7B 2 & ERE SRR hES BE BER Z okt 5:%14'%
FE] 25 B8] 28 (5| 28 BB 28 (% =58 |B%| 28 |Fh| 28 (i8] 28 A% 2 &

4K 4 17,808 1 5,000 1 23,530 6 46,338
5H 1 6,450 2 10,000 1 10,000 1 4957 5 31,407
6AH 1 10,000 2 9,385 1 33,998 2 11,000 6 64,383
78 3 30,000 1 10,000 1 3,304 1 3,000 6 46,304
8H 1 4,400 2 9,380 2 10,000 5 23,780
9A
10H 2 8,976 1 6,000 1 10,000 4 24976
11AH 1 10,000 2 12,000 3 22,000
12H 3 20,000 3 20,000
18 2 8,574 4 34,000 6 42574
2A 1 10,000 1 10,000
3H 1 4114 1 4,114
=5 13 76,208 21 139,879 3 30,000 4 65,789 5 24,000 46 335,876




A& 2
DATEE (ERSIEE)4A 7 X HRAR

(B {I:[H)
AR XHXS XHHRBEATEELSE) X H&5
4/12 | 2 |= BB XIS 5,000
4/14 | 7 |BEE KRBT E 23,530
4/20 | 1| |[BATEXGRESEERRS 4,040
4/21 1|fE  |EFEEITIKBRY 4,384
4/22 | 1 |fiE  |BAERN\VRE2TIHETK 4384
4/22 | 1|98 |BABEN\JRE2THZERINER 5,000

&5t 644 46,338




A& 2

DATEE (ERIIEE)S AR X HAR

(B f:F)
AH XHXS XHHRBEATEELSE) X H&5
5/8 2 |[& BEATREER=MEEHRS 5,000
5/9 J|EFE |FH 10,000
5/20 | 7 |IBEE |BEEERERITBRMEARLE 4,957
5/25 | 2 |& AR—Y95T=WVEWREXBHS 5,000
5/28 | 1|HiE  [BRIIBIRBERS 6,450
=X 54 31,407




A& 2

DATEE (ERIIEE)6 AR XHAR

(B f:F)
AH XHXS XHHRBEATEELSE) X H&5
6/1 1|1PUE  [PEEESETEISA0BAEREENES 10,000
6/1 2 & EATREBEREHEREABHR 4,385
6/2 2 |& NI EERRESRSEBHRE 5,000
6/3 8 [Z DM |#IRTAREEXZ - FHNENTEZEE 5,000
6/8 7 |BEE BEAAERNBASLTIE 33,998
6/18 | 8 |Zith |FKBEILERTNTEZSDE 6,000
=X 64,383




A& 2

DATEE (CERSIEE)7A 7 X HAR

(B f:F)
AR XHESHS XHHRBEATEELSE) X H&5
7/1 2 |& ZIMKRER 10,000
7/3 7 |BEE BBEXBEERERTRARLE 3,304
7/23 | 8 |t [FEN-EBARMBEHEEZHYH 3,000
7/23 | 3 |EFRE [FH 10,000
7/28 | 2|& ERREIRENESR 10,000
7/30 | 2| FHEEMSLEEEESESBERRR 10,000
=X 614 46,304




A& 2

DATEE (ERBIEE)8A N X HAR

(B f:F)
AH XHXS XHHRBEATEELSE) X HE%E
8/3 1|HE  [BROTSEDORMER 4,400
8/6 2 |&= W DRENLI0FE F 5T = RBHE 5,000
8/24 | 8 |x it [3BAREHEE SRALEATHL 5,000
8/28 | 8 |zh |HBUKEEREEFTEN 5,000
8/30 | 2 |& RINEERLESS 4,380
=X 514 23,780




Al F=2
SHTEE (ER3IEE)IA S IHALR
(B f:F)

AB | XHR5% XHRBETEELEH) X HEEE




A& 2
THMTEE (ERINEE)10A 7 HAR

(B f:F)
AH XHXS XHHRBEATEELSE) X H&5
10/5 | 1 |f%fE  |BIfEEEEsIR 4510
10/5 | 3|ERE |FH 10,000
10/25 | 2 |& BN L-BANENEEMETRSNES 6,000
10/27 | 1 |HE | KBS ERFRENESR 4,466

&5t a4 24,976




A& 2

TMTFEE (ERSIFE) 1A XHAR

(B {I:[H)
AH XHXS XHHRBEATEELSE) X H&5
11/17 | 2 |& HREREHERREITR 5,000
11/19 | 2 |& BATERRERRAR 7,000
11/23 | 1 |HE  |JARRNTHTRINESR 10,000
=X 3 22,000




A& 2

THTEE (FRINEE)12A 7 HAR

(B f:F)
AH XHXS XHABRATEELS) X HE%E
12/71 | 2|& AR—=YI5TEWVEVWEER 5,000
12/19 | 2 |& PEEEISTHREMRS 5,000
12/25 | 2 |& BATEEZERTER 10,000
=X 3 20,000




AlZ&k2

DATEE CERSIEE) 1 A7 XHAR

(BifL:H)
AR XHXS XHABRATELSE) £
1/5 2 [& fRNTUEEEERHH 4,000
1/10 | 2 |& REIZBIREERS 10,000
1/12 | 2 |& NAZTERER 10,000
1/23 | 2|& PEA-RIBISSREAXER 10,000
1/28 | 1| [PEEEIBRHENES 4,460
1/29 | 1|%E [BMRIBRESKIEZHEHES 4,114
=X 614 42,574




A& 2
DATEE (CERBIEE)2A 7 X HAR

(B M)
AR THES IHRNBRATELE) T HE%E
2/4 1[FE [TREERERRFRINES 10,000

&5t 114 10,000




A& 2
DATEE (CERBIEE)3A S X HAR

(B f:F)
AH X HED THNBEATELSE) X HEEE
3/3 2 |= MEZZJHEMRE 4114

A&t 14 4114




